Pre-assembled connectors

Walraven RapidStrut® G2 Connectors

Walraven RapidStrut”

Walraven RapidStrut® Flat Connector G2
Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Linear Connector (U) G2
Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Z-Bracket
Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Cross Connector
Walraven BIS UltraProtect® 1000

[ ] ) Part No. For dimension
r r l : - ; 1 66588292 41x21 1 .
CO e e C a n n e S S EI I l O r Ve rsa I e D, - 2 66588294 4141 = Part No.  For dimension
\“B L S Part N 4. 5 <G
e P = b , ' 3 66588295 41x51 = : 1 66588502  41x21
. _ . =
1 665885184 % Part No. 2 ﬁﬁ‘xt» . 4 66588296  41x62 2 66588504 41x41+41x21D
2 665885186 \ 665885421 ! =S 5 66588298 41x82
T

© ° 6 66588299 41 %124

medium applications

Walraven RapidStrut® T/X Connector G2
Walraven BIS UltraProtect” 1000

Walraven RapidStrut® Cross Connector G2
Walraven BIS UltraProtect® 1000 Walraven RapidStrut® Connector 90°

Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Angle Connector 45°/135°
Walraven BIS UltraProtect® 1000

X 5
4
e 3 . .
T..'.I & 1 2 ) J ‘!Q _ Part No. For dimension . . ' 9 3
: < & “‘g." - 1 665885402 41x21 Part No.  Dimension
. - - 2 i i
Channel Wall and floor connections and beam clamps e IR I : | 0T 6262 m 1 y - o T
> . 7 Part No. Type ™ ﬂ 3 665885405 4151 I 2 66588207 62 x 42 mm q " 1 66588242 110x52mm  135°
/ 0 /“" B 665885213 T e i 4 665885406 41x 62 % 3 66588221 110x 62 mm - L - 2 66588256 110x 100mm  135°
. - 665885223 X / \ 5 665885408 41x82 4 66588228 110 110 mm = 3 66588270 110x 72 mm 45°
Walraven RapidStrut® Channel Walraven RapidStrut® Base Plate G2 Walraven RapidStrut® Base Plate G2 Walraven RapidStrut® Angle Connector 90° G2 Walraven RapidStrut® Angle Connector 135° G2 Walraven RapidStrut® U-Connector linear Walraven RapidStrut® Connector 90° Rigid
Walraven BIS UltraProtect” 1000 Walraven BIS UltraProtect” 1000 zinc plated Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000
2 2 .
21| M 21|H ML 41| M 41|H 51| M 62 | H 82|H . Part No. For dimension Part No. For dimension S Q,_' - \-:\.-.. ___ Part No. Height
L (m) M x21x20mm 41x21x25mm 41x41x1,5mm 41x41x20mm 41x41x25mm 41x51x20mm 41x62x25mm 41x82x25mm | *h - For Walraven RapidStrut® | } For Walraven RapidStrut® ) c [ 1 & \:‘.‘* N o W= 1 66588121 21 mm . Part No. Dimension
2 - 65018227 - 65018242 65018247 65058252 - - | 665885400 ¥ 66583804 1 : G : " 2 66588141  41mm 66588291 91x91x 6 mm
m., 21,41, 51,62, 82 21,41, 51,62, 82 ¢ C Part No. L Y L 1 2
3 - 65018327 65018344 65018342 65018347 65058352 65018367 65018387 Preassembled with fosteners . TN —— b e %
6 65018622 65018627 65018644 65018642 65018647 65058652 65018667 65018687 e S -~ o -
g = 2 665885202 N = 4 Part No.
o -
Walraven RapidStrut® Base Plate Heavy Duty Walraven RapidStrut® T-Bracket w i 665885203 \ 1 665885330
Walraven RapidStrut® Channel Walraven BIS UltraProtect” 1000 zine plated S\ 665885205 2 665885235
: . ®
pre-galvanised W | R d S P h S
alraven RapidStrut PushStrut
iy o | i
b . i i
L 21| L 21| M 21| H a1 L 41 M 41 H 62 | H 82 | H ; : ‘- * _Part No. For dimension s J.! . F 2 _Part No. Type
(m) A1 x21x1,5mm 41x21x20mm 41x21x25mm 41x41x1,5mm 41x41x20mm 41x41x25mm 41x62x25mm 41x82x25mm by 1 66588641 41 x 41 + 41 x 21D c -~ ‘" 3 1 66583801 Horizontal ™~ u
Rt s ox k)
6505224 6505222 6505225 - - - > 2 66588682 41x82 +41x 41D - 2 66583802 Vertical
2 6505244 6505242 6505245 |- L, D ) H amme I’fIX an d SI |d en utS
3 6505324 6505322 6505325 6505344 6505342 6505345 6505365 6505385 . ® Walraven RapidStrut® PushStrut Button Walraven PushStrut Wallplate
6 6505624 6505622 6505625 6505644 6505642 6505645 6505665 6505685 W a I raven Ra p | d St Fu t G 2 Jinc plated zinc plated
Walraven RapidStrut® Wall Plate (Hinged) Walraven RapidStrut” T-shape Base Plate
Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000
Walraven RapidStrut® Channel Double Walraven RapidStrut® Channel Double
Walraven BIS UltraProtect® 1000 Pre-galvanised . . i . e
e Walraven RapidStrut® Hammerfix G2 Walraven RapidStrut® Slide Nut G2 L S |
Part No. For dimension <3 Part No. For dimension Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000 "‘i* Part No. Part No. Dimension
21| M 41|M 62 | H 21| M 41| M 62 | H 66588814 41 x4 66588361 41 %21, 41 x 41 Part No Dimension 66519910 o 6594035 L=113mm
L Double Double Double L Double Double Double . Part No. Dimension
(m) 41x42x20mm  41x82x20mm  41x124x2.5mm s (m) 41x42x20mm  41x82x20mm  41x124x2.5mm 652785804 M8 x 40 B 185100 E
6 65018626 65018646 65018666 i< 6 65015626 65015646 65015666 Walraven RapidStrut® Channel Beam Clamp Walraven RapidStrut® Inter Flange Clamp Set G22I ez 50 665185108 Ms Walraven PushStrut Angle Connector 90°/135° Walraven PushStrut 2D Connector
hot dip galvanized clamp: pre-galvanised, fasteners: zinc plated 652785806 mg x 60 665185110 M10 zinc plated zinc plated
. 85808 8x80
: ooz . 665185112 M12
652785810 M8 x 100
652785004 M10 x 40 gﬁk
Ca nti Ieve F arms Part No. For dimension _ % 652785006 M10 x 60 ) \ ) =
4 Part No. For dimension 652785008 M10 x 80 ] ) ] : 2
66581711 21. 41, 21D 652785010 M10 x 100 Walraven RapIdStrut® Hammerfix ‘U’ G2 Part No. Angle P, \ 5 B Part No. Type
66581721 51, 62,82, 41D 6078031 41X21 + 41x41 . - <2 '}
1 652785204 M12 x 40 Walraven BIS UltraProtect® 1000 1 6594001 90° : 1 6594010 2-2/90°
1 piece of 6078031 is a Set with 2 Flange Clamps and 652785206 M12 x 60 B 5
4 screws and nuts 2 6594005 135 2 6594015 4-4/90
Walraven RapidStrut® Cantilever Arm l
Walraven BIS UltraProtect” 1000 _ _ oy Part No. Dimension ,
Walraven RapidStrut® 'Heavy Duty' Beam Clamp Walraven Adjustable Support P~ Walraven PushStrut Construction Bracket Walraven PushStrut T-Connector
hot dip galvanized Walraven BIS UltraProtect® 1000 665285006 M10 x 60 zinc plated zinc plated
‘I
N 5 : ¥ ) - ) ) - ) D ;
Part No.  For ! Part No. For dimensions Walraven RapidStrut® Slide Nut Plastic Tabs Walraven RapidStrut® Slide Nut Plastic Tabs ,rf&\ ("-""}\
- Walraven BIS UltraProtect® 1000 zinc plated J—y Part No. Dimension - - - 2  Part No. Dimension
21 | M vertical 21| H 41 | M with support 41| M 41|H 41 | M Double 6072002 Heavy Duty Beam Clamp 66588818 21,41, 51, 62, 82 re :
L (mm) 41x21x20mm 41x21x2.5mm 41 x 41 x2.0 mm 41x41x2.0 mm 41x41x2.5mm 41 x 41D x 2.0 mm 6073400 Set - 400 mm with 21D Part N Di ) 6594025 163 mm 6594020 119x 153 mm
150 R R R R 66034115 R 6073600 Set-600 mm with 21D art No- imension
Part No. Dimension
200 g 66082120 : : 66084120 : 6518606 Mé
300 6603828 66082130 - 66084030 66084130 - 651868008 M8 6518608 M8 Walraven PushStrut 3D Connector
400 . . - - - 66088240 651868010 M10 6518610 M10 zinc plated
450 - 66082145 - 66084045 66084145 - . 651868012 M12 6518612 M12
600 6603829 66082160 6601894 * 66084060 66084160 66088260 CO n St ru Ct 10N b racC kEtS dan d C h anne I p ro pS f;f?wg r:fmg -— F;L-*-. Part No. Dimension
750 - . . . 66084175 6608'8280 L . 11;“;_. {a 6594030 111 x 111 mm
500 : : i i § i ; R 6594031 11 % 111 mm
1000 - - - - 66084198 66088298 Walraven RapidStrut® Slide Nut Walraven RapidStrut® Slide Nut y L : R oM 6594032 158 x 172 mm
200 - - - - SETERIER - Walraven BIS UltraProtect® 1000 zinc plated
*(hot dip galvanized) . . .
Walraven RapidStrut® Construction Bracket Walraven RapidStrut® Corner Bracket Part No. Dimension Part No. Dimension
Walraven BIS UltraProtect® 1000 Walraven BIS UltraProtect® 1000 65188006 MG 6517006 V6
S 65188008 M8 — 6517008 M8
. o . 65188010 M10 ) 6517010 M10
End ca pS and St” ps - 2l ' 65188012 M12 — 6517012 M12
, 3 65178016 M16
ety dF | Part No. Dim. Part No. Dim.
65938020 200 x 200 x 4 mm 66038020 200 x 200 X 4 mm DO YOU I’IEEd d ny hEI p

Walraven RapidStrut® Channel End Cap
PE (polyethylene), green

Walraven RapidStrut® PVC and Rubber Strip

The value of smart

Walraven RapidStrut® (Flexible) Channel Prop
Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Connector 90° / 2D
Walraven BIS UltraProtect® 1000

Walraven RapidStrut® Slide Nut MS

zinc plated

Walraven RapidStrut® Washer U-shaped
Walraven BIS UltraProtect® 1000

or technical advice?

_ Part No. Dimension
Part No. For dimension S * O h 2 "ﬁ}" 66513108 M8 Part No. Dimension
5566021 %21 | Part No. L It ~ 66513110 M10 66538009 9 mm Please contact us:
6566041 M x4 TP Gmon  PartNo. Type "1 66288530 418 mm ~ 0 UL ¥ 66513112 M12 66588010 11 mm 431297 23 30 00
6566051 41x 51 6566999 PVC white (3 m) 2 6621083* 929 mm - . 1 66598914 2+42/90  105mm eesrane 66513116 M16 66588012 13 mm
6566062 41x 62 ~ 6568041 EPDM black (30 m) *hot dip galvanized 1 2 66598918 4+4/90 154 mm Bos1312 66513121 12" 66588016 17.mm export@walraven.com
6566082 41x82 6568042 EPDM black (50 mm) 2

walraven



